St. George's Day Mental Calculations Mosaic

Solve the calculations to reveal the hidden picture. Each answer has a special colour.

Green = 200-290 Red = 300-399 Black = &00-499 Blue = 500-5%9
999 - 199 + 409 - 654 - 736 - 654 - 205 = 405 - 1 800 -
00 L00 100 1030 £00 &0 300 300
156 + L&T + 100 - & 75 + 468 - 56T - 503 = L£T2 = o1 +
00 &0 200 200 &0 10 50 200
398 + 503 - 472 - 652 - 503 - 118 = 250 =
340+6 | 265 + 3
200 300 50 £00 10 100 300
150 + 395 - 253 + 154 + 278 + 278 = 620 - 265 = 265 +
&0 100 30 80 20 30 100 300 30
398 393 - 850 - 324 - 349 + 320 = 620 - 400 - 1 300 -
+100 100 e 00 50 &0 200 &0 20
208 + 619 + 207 - 600 - 356 - 856 - 3T0 =+
000 -1 J00-38
70 &0 50 10 500 300 200
485 + 215 - 499 + 199 + 310 - 965 - 80y - 187 = 26 +
&0 L00 20 10 50 700 &00 20 200
85 + &00 - 253 + 451 - 297 .5 601 - 27 = 352 - 452 +
500 &0 30 200 £00 200 70 70
500 + 817 - 523 + Q70 - 227 + 205 - 4 T35 - 265 = 265 +
70 600 30 700 300 200 30 300
617 - 109 + 495 - 405 + 285 - 227 = 336 +
600 - 7 265 + 3
20 &£00 200 20 &0 300 200

Challenge: Use inverse operations to write the related additions for these subtraction focts.

Explain how you calculated the inverse.

856 - 500 = 156

503 - 10 = 493

324 - 50 =274




